
10,0mm
90378
4x20

871/37

702/76

Arrêter le serrage de la vis lorsque
la tête de vis et l'écrou touchent la
pièce centrale.

Schraube nur so fest anziehen bis 
Schraubenkopf und Mutter am 
Zentralstück anliegen.

Tighten the rotor head bolt until 
the nut makes contact with the 
centre hub but is still able to 
rotate freely. ( do not tighten past 
this point )

90160 
M4x18  (S)

702/97

90537
M6

(S) 

060/9 
(S) 9mm

060/23

832/77
703/87

703/87

91010
10x16x0,5

Fett

Ord.No.10/36

90207 
M6x20 (S)

90535 
4mm

90545 
3,2x9

05/19

3-Blatt-Rotorkopf
Ord.No.703/43

90195 
M4x50

90380 
M3x5 (S)

90055 
M3x8 (S)

90207 
M6x20 (S)

Fett

11,0mm

75/1

Ord.No.68/50

832/75
117/2

75/1

(S) Ord.No.10/24

Dieser Rotorkopf ist nur vormontiert. Bitte nehmen Sie die 
Endmontage gemäß Explosionszeichnung vor. Beachten
Sie auch den Austausch der Kugelbolzen am 
Taumelscheibeninnenring.

This rotor head comes virtually pre-built and will requires
final assembly as shown on the diagram. Please note that 
the ball end bolts on the inner ring of the swashplate will 
need to be replaced.

La tête de rotor est seulement pré-assemblé. Proceder au 
montage définitif suivant schéma joint. Faire également
attention au remplacement des axes à rotule de la bague 
intérieure du plateau cyclique !

90055 
M3x8 (S)

056



90165 (S)
M4x20

35/13  
4x9x4

90845  
4x7

060/30 (S) 
M4x635/13  

4x9x4

2

Alouette III

(S) 

70/56
3x55mm 

107/17 

107/17 

3x

832/54 

832/78

90535  
M 4

060/30 (S) 
M4x6

2x 90147 (S)
M4x12

(S) = Ord.No.10/24

90147
(S)  M4x12

85/1
4x6x1,5



Roll links
Aileron left

Roll rechts
Aileron rightNick hinten

Elevator backward

Nick vorne
Elevator forward

Flugrichtung 
Flight direction

Achten Sie bei der Einstellung Ihres 
Modells darauf, dass die Rotorblätter
die hier gezeigte Steuerbewegung
ausführen. Dieses Beispiel lässt sich 
auf ALLE Rotorköpfe anwenden, egal 
ob 2, 3, 4, 5, oder 6-Blatt! When setting up your model ensure 

that the pitch angle of the blades
matches the cyclic stick movements
as shown on the diagram. This set 
up is applicable for all rotor heads 
from 2 to 6 - blades.


	1_703_43
	2_703_43

